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Adding and Subtracting Numbers in Scientific Notation

Th ation of the United States af:‘mm]‘icnplc. The population ofCanads is
16 X 11}’ ..._.......—--u--—.....::.....

Which country has a IargEJ pupulatlou’*' Hor do you know?
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b. How many more people (in scientific notalion) does the |:ir|g£;']m;uj|:lliml have?
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Steps for Adding/Subtracting Numbers in Scientific Notation

We need to have both of the powers of 10 to be the same. To do this, take the larger of the
exponents in the problem zu]&rewrite 3* follows:
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1[]Tarye%n-wer — 1{,sma.!lpr' power .{:]i‘ﬂrgerpawfr smaller powear
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So, in our problem: 3.189 x 10% — 3516 x 107 -~ =.A8 x 10X % 10-Y 3516 x 107

Now use the commulalive properly Lo move the lerms .quml and multiply so that bath
populations have the same exponents. n

This meons: 3189 = 107 — 3516 x l[]rg;lg ; @x Iﬂi—lﬁ‘]ﬁ = 107

And we multiply the first two coefficients: —m = lll]q- —3.516 x 107

Now you are subtracting two terms with the same exponents. These are now —Q 1 kf_g

terms.

3.189 x 10° — 3516 x 107 @ ﬁ‘* F'B ";,‘L ‘\@
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Is the coefficient of between 1 and ves”, then vou are dl.'.lﬂE" If “no”, adjust the coefficient

and then your exponent appropriately. 337 L{_ 0

The same procedure applies for adding numbers in scientific notation!




Example 1: Find the sum: 5.64 x 16+ 1.08 x 108
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Example 2: Find the difference: 3.179 x 160341 x 1009
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Example 5: The table shown below gives the approximate enrollment at the University of Michigan every

fifty years.

Year Approximate Enrollment at the University of Michigan
1850 7.2 x.10"
1.90p/ éj Izz_x..'l.lf}
C_1950 7 x 10" )
2000 3.8 x 10*

How many more students were enrolled at the University of Michigan .anﬁn 19007 )Express your

answer in scientific notation.
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